
Barber Chair
User Manual

Read Carefully Before Use 
Keep for Future Reference

V20230412



1

Safety Information

•	 ALWAYS ensure all fasteners and components are intact and securely tightened before each 
use.

•	 DO NOT use this chair if it is damaged or malfunctions. Repair or replace worn or broken 
parts before further use.

•	 DO NOT load this chair with more than 660 pounds (47 st. 2 lb.) or 300 kg.

•	 DO NOT leave children or persons with compromised physical or mental capabilities using 
this chair without close supervision.

•	 Store this product out of the reach of children after use.

Warning!

Product Diagram

Backrest

Armrests

Pedal

Hydraulic Pump

Base

Seat

Footrest



2

Specifications

Package List

Seat with 2 M5×20 Bolts × 1
Backrest with 4 M5×25 Bolts × 1
Footrest × 1
Hydraulic Pump × 1
Pedal with 2 M4×8 Screws × 1

Base × 1
M5×20 Bolts × 6
Caps × 8
M5 Hex Wrench × 1
M4 Hex Wrench × 1

Material Stainless Steel, Cast Iron, Chrome, HDF, Artificial Leather, 
Foam

Dimensions

Height Range 32.7–36.6 in. 83–93 cm

Backrest 18.9×15.4 in. 48×39 cm

Seat 20.5×19.7 in. 52×50 cm

Seat Elevation 16.1–20.1 in. 41–51 cm

Armrest 20.9×13.4 in. 53×34 cm

Weight Capacity 440 lb. 200 kg

Net Weight 53 lb. 24 kg

Assembly

1. 	Place the hydraulic pump onto the base, aligning its bottom holes with those of the base. 
Secure the pump using the M5×12 bolts and tighten them with the M5 hex wrench.



3

2. 	Loosen the preinstalled set screws on the pump using the M4 hex wrench. Fit the pedal onto 
the pump and secure it by retightening the screws.

3.	 Remove the four preinstalled M5×25 bolts from the backrest. Place the backrest between the 
armrests, aligning its holes with those in the connecting plates of the armrests. Replace the 
four bolts to secure the backrest. Attach the provided caps to the bolts and press them into 
place.

4.	 Remove the two preinstalled M5×20 bolts from the footrest. Fit the footrest onto the bottom 
of the seat and replace the two bolts to secure it. Tighten the bolts with the M5 hex wrench.



4

5. 	Insert the top of the hydraulic pump into the central hole underneath the seat. Place the chair 
on a level surface and press down on both armrests until the seat is secure.

Adjustment

To raise the chair, press the pedal lightly, quickly, and repeatedly until your desired height is reached.

To lower the chair, hold the pedal while someone is sitting in it or while pushing down on it.

Maintenance

•	 The exterior of this chair should be cleaned periodically with a soft damp cloth. Do not use 
abrasive cleaners or caustic chemicals.

•	 Check the parts for any looseness, wear, or damage periodically. Tighten, repair, or replace 
any problematic parts before further use.

•	 If this chair will not be used for a long period of time, store it in a cool, dry, and safe place.



Contact Us

HBC-S002-BK HBC-S002-BU 

HBC-S002-GY HBC-S002-WH

Rev. 12 Apr. 2023

Thank you for choosing our products! If you have any questions or comments, 
contact us at help@cs-supportpro.com and we’ll resolve your issue ASAP!

For a .pdf copy of the latest version of these instructions, use the appropriate 
app on your smartphone to scan the QR code to the right. 


